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MATHEMATICS
Year 11

Assessment Task 1
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Time Allowed: 50 minutes + 5 minutes reading time

.oe

Basic Arithmetlc and Algebra

44 marks

Instructions:

There are FOUR {4} questions which are of equal value.
Attempt all questions.

Show all necessary working. Marks may be deducted for badly
arranged work ar incomplete working.

All answer must be written to the simplest exact form.

Start each question on a new page.

Write on one side of the paper only.

Diagrams are NOT to scale.

Board-approved calculators may be used.

Write your student number at the top of each question and clearly
number each question.
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Question 1 [11 marks]

Start each question on a new page.

(a) Evatuate in scientific notation 0.4 X 0.07 x 0.0003

7+ ..
(b) Evaluate ’? to 3 significant figures.

(c) Write the following with a fractional index.

.-
a3

(d) Showing all working, write a simplified fraction for 4. i8

{¢) Rationalise the denominator then simplify the following,

2—410
2v6
(f) Simplify in exact form
@ (§-3)°
.. V158
) 755

(g) Write the following without fractional indices.

_3
25a%\ 2
bﬁ

Ene of Question 1

1 mark]

[1 mark]

{1 mark]

[2 marks]

[2 marks]

[2 marks]

{2 marks]



Question 2 [11 marks] Question 3 [11 marks]
Start each question on a new page.

Start each question on a new page.

= (a) Solve for x by factorising [2 mark]
(a) If ¥45 + +80 = av/5 , find a. (1 mark] i —19% —7 = 0
{b)-Solve for x {3 marks] (b) Simplify [7 marks]
i) 4 5)=—-6(3—
® 4(x+5)=-6(3-x) @ a(i-b)-bl-a
x+2 |, x-3
) —+—=1 o 6m3n . 3mS
4 5 (11) 7 ._2.
sSmn® -mn
(i) 4+vx—-2=7
(-n) 3 1
iy ————— —=
(c) Fully factorise [5 marks] x¥237x+10  x+5
‘@) 15b —3ab :
" g—x?
ii) mi+em+9 :
(i) . iv) P
i) 2x%2-11x-21
i) p*+27p a?-p2 2a%+2ab
. M Sa2-3ab " 2Z+zab+b?
) x2+7x—yi-7y
(c} Simplify (2 marks}
2p3 9k+1 % 72k—1
{d) Find the exact value of —5— where : [2 marks] - .-
, . c a 212k % 27
5 2 5
a=() 2=() c=()
End of Question 3

End of Question 2



Question 4 [11 marks]
Start each question on a new page.

(@) Simplity (a—3) if a=VZ+1 [2 marks]
(b) Solve for x, [3 marks]
(O.Z)x+1 — (0.008).1:—1
© [3 marks]
(i) Show that ~———= \/_+ o = *\[— /N — 1, for any positive integer .
(i) Hence evatuate
1 + 1 bt 1 + 1
1+vV2 V2+43 VB+YT V94410

[3 marks]

(d) Solve for x
(x? — 12x +36)*+x-12) = 1

End of Question 4
End of Exam
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